MEMO
Section A – short questions
Questions 1

1.1 B √√
1.2 C √√
1.3 A √√

1.4 D √√

1.5 A √√

1.6 D √√

1.7 C √√

1.8 A √√
1.9 B √√
1.10 C √√

1.11 D √√

1.12 C √√

1.13 D √√

1.14 B √√

1.15 C √√

Total: Question 1 (15 * 2) = 30 marks
QUESTION 2
2.1 FALSE. USB is controlled by the south bridge. √√
2.2 TRUE. √
2.3 TRUE. √ √
2.4 FALSE. BIOS is built in software that controls the hardware on the lowest level. √√
2.5 FALSE. No drivers needs to be installed for a plug and play device. √√
2.6 FALSE. Bandwidth is the amount of data that can be sent at any given time, from one point to another. √√
2.7 TRUE. √
2.8 TRUE. √
2.9 TRUE. √
2.10 TRUE. √
2.11 FALSE. Consists out of 3 steps. √√
2.12 TRUE. √
2.13 FALSE. Registers are a temporary storage are within the CPU. √√
Total: Question 2 = 20 marks
Total Section A: 45
SECTION B - HARDWARE AND SOFTWARE
QUESTION 3 – HARDWARE AND SOFTWARE

3.1 WAN. This is a type of network that connects computers over a large area. Usually there is a third party involved. Also look at the learner’s answer. √√√√
(4)

3.2 Sharing of hardware √ 

Explanation √

Sharing of programs √ 

Explanation √
Centralisation of data √ 

Explanation √
Transfer of data √ 

Explanation √
Improved communication √ 

Explanation √







         (10)
3.3 Network device √

Network Interface Card √

Network operating system √

Communication medium √






(4)
3.4 Weakening of signal √

EMI √

People listening in √

Crossed lines √








(4)
3.5 Political issues – terrorism/wars/sabotage
Technical issues – power failures / thunder storms
Human error
Natural causes – fire / earth quake / flooding




(4)
3.6 Client-server will be the most effective. √√
Peer-to-peer
· All computers are equal and perform the same communication functions. 
· No server is needed.
· All the computers must be of a high standard with large storage and a powerful processor. 
· Network programs are usually included in the operating system, which makes it cheaper.
· Can only be used by a small amount of computers, 10 or less.
· Can be installed by a person with relatively little technical knowledge.
· Speeds are usually slow.
· Limited security.
· A committed network administrator is not needed.
· The network operating system must be loaded onto each computer.
· Windows XP or Windows Vista

(any 3) √√√

Client-server
· Each computer must either be a client or a server.
· A server is needed.
· The other computers do not need to be so powerful.
· A specialised network operating system must be installed onto the server.
· Can be used with a large number of computers.
· Must be installed by a person with high technical knowledge.
· Speeds are fast.
· Security is much more sophisticated.
· A committed network administrator is needed.
· The network operating system must be installed onto the server and the client program onto each of the remaining computers.
· Novell Netware and Windows 2003 Server.

   (any 3) √√√   (8)
3.7 Look at the learner’s answer
The following aspects must be covered:
· Portability and mobility
· Cost effectiveness
· Flexibility
· Planning
· Security
· Reliability
· Speed

√√√√   (4)
3.8 Virtual Private Network. √

This is a private network that uses the internet to connect computers, as if they were part of a LAN. It uses encryption and other security measures to control access to this network (and its data), thereby ensuring privacy of the network. √√√

Explanation: Look at the learner’s reasoning √√



(6)
3.9 Used to connect LANs and WANs. √

Used to connect networks and to manage traffic on this network.. √

Can also be used to manage large/busy LANs and thereby improving their effectiveness and speed. √

They determine the fastest, best and most effective route the data must follow. √










(4)
3.10 Very reliable. √

High speed. √








(2)

3.11 CPU – A very powerful processor is needed. √

RAM – The server must be equipped with a large amount of memory. √

Storage – A high storage capacity is needed. √

Network connection – A secure, high speed network connection is needed. √

(4)

3.12 Arithmetic Logical Unit 

Control Unit 

Floating Point Unit 

Registers 

Cache memory (Any 4 - √√√√)






(4)

3.13.1. SRAM

· Used as normal memory.
· Must be refreshed consistently, because capacitors are used.
· Functions at the same speed as the motherboard. (slower)
· Much cheaper than SRAM

DRAM

· Used where high-speed memory is needed.
· Does not need to be refreshed, because transistors are used.
· Functions at the speed of the CPU. (faster)
· More expensive than DRAM.

3.13.2. 





     (half a mark each – 8 x ½ = 4)

3.13.3. ROM – Read Only Memory √

This type of memory does not lose its contents when the power is off and is responsible for the start-up process of the computer. √

(2)
3.13.4. Step 1:

· The computer is switched on √
· Instructions are loaded from the BIOS into the CPU √
Step 2:

· The BIOS allows the CPU to load the configuration of the hardware from the CMOS. √
· The POST is executed, that determines whether all the devices are in working order. √

Step 3:

· The BIOS allows the CPU to load a operating system from the storage device. √

Step 4:

· The operating system are loaded from the secondary memory into the RAM and takes control of the computer. √


(6)
TOTAL SECTION B: 70
SECTION C: APPLICATIONS AND IMPLICATIONS
QUESTION 4: CAREERS IN IT AND E-COMMUNICATION

4.1 Responsible for the smooth running and management of the network. √
Maintains the user database and security, analyses the functioning of the network and ensures that data is backed up. √
Sets up the network on the file server. √




(3)
4.2 Planning, implementation and day to day administration of the database management systems. √
Manages access to the database. √

Ensures that the database is in a good working order. √ 


(3)
4.3 The network administrator is responsible for the maintenance of the network where the database administrator is responsible for the maintenance of the database. √√








(2)
4.4 MCSE

CNE

Certified Java Developer

CCNP

Oracle Certified Professional

Red Hat Certified Engineer
(any two √√)




(2)
4.5 Determine exactly what you are looking for. √
Identify key words. √

Use synonyms. √

Check your spelling. √






(4)
4.6 Planning
· Define the project. √
· Determine where and how information will be accessed. √
Gathering and using the information
· Gathering sources and extracting the information. √
· Use the information. √
Finalise the project
· Present your information. √
· Evaluate the project. √






(6)
4.7 Check the learner’s answer. √ √ 





(2)
TOTAL SECTION C : 22
SECTION D: PROGRAMMING AND SOFTWARE DEVEOLPMENT
QUESTION 5: ALGORITHMS AND PLANNING
5.1.1. NUMBER. √
To stop the user from entering an id number with letters. √√

(3)
5.1.2. ID_NOMMER. Because this field’s values may not be repeated, seeing that every person may only vote once.  √√√



(3)
5.1.3. Data overflow. This is when too much unnecessary information is included in the table that increases the size of the database and makes accessing the database slower. √√√




(3)

5.1.4. Evaluate the answer and motivation of the learner.


(2)

5.1.5. This way it is easier when writing SQL-statements. √


(1)

5.1 Decreases unnecessary data √
Improves the integrity of the data √
Data can be shared over the network √
Easier access √
Decreases development time √ ANY THREE



           (3)
5.2 SQL is a query language that is used to perform certain actions in a database. √√
It provides a shorter and more powerful way to execute certain processes, such as queries. √√








(4)
5.4.1. SELECT * FROM votes WHERE vote_centre = edtstess.text √√√ 

(3)

5.4.2. SELECT * FROM votes WHERE count_centre = edttels.text √√√
(3)

5.4.3. SELECT * FROM votes ORDER BY party √√√


(3)

5.4.4. SELECT * FROM votes 

WHERE id_number LIKE + ‘’’edtidnum.text + ‘%’’ ‘  √√√√√
(5)

5.3 ActiveX Data Objects. √
Any program needs a interface (database engine) to be connected to a database and communicate with the database. This database engine acts as a compiler that the programmer does not need to learn a new programming language every time he uses a different type of database. √√





(3)
OPEN THE TABLE √
MOVE THE CURSOR TO THE FIRST RECORD √
WHILE NOT TABLE.EOF DO √

BEGIN



READ A FIELD(S) FROM THE RECORD √


DO YOUR CALCULATIONS (CURRENT RECORD)


MOVE TO THE NEXT RECORD √
END;









(5)

5.4 ‘n Repeat-loop will always execute at least once, because the test of the control variable happens at the end of the loop. Therefore if your dataset is empty the program will not execute. √√






(2)
TOTAL SECTION D: 43
